

County Distribution Detail Report through 10/02/2018

Aurora

8/2018

2,240

3,825

11

6,076

\$7,595.00

\$153.27

\$7,441.73

0.70

\$5,209.21

Adioid									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$54.46	\$-54.46	0.70	\$-38.12
8/2018	1,252	1,860	3	3,115	\$3,893.75	\$92.19	\$3,801.56	0.70	\$2,661.09
							Entity Total:		\$2,622.97
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,622.97
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$199.10	\$-199.10	0.70	\$-139.37
8/2018	4,344	10,468	190	15,002	\$18,752.50	\$390.99	\$18,361.51	0.70	\$12,853.06
							Entity Total:		\$12,713.69
							Adjustment:		\$0.00
							Total Amour	nt:	\$12,713.69
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$29.68	\$-29.68	0.70	\$-20.78
8/2018	929	1,075	3	2,007	\$2,508.75	\$57.89	\$2,450.86	0.70	\$1,715.60
							Entity Total:		\$1,694.82
							Entity Total.		V1,00 110 <u>-</u>
							Adjustment:		\$0.00
							-		
Bon Homme							Adjustment:		\$0.00
Bon Homme Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Adjustment:		\$0.00

Entity Total:	\$5,134.03
Adjustment:	\$0.00

Total Amount: \$5,134.03

Adjustment:

\$0.00

kings

2.0090									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	1	0	1	\$1.25	\$612.27	\$-611.02	0.70	\$-427.71
8/2018	11,138	20,214	232	31,584	\$39,480.00	\$840.43	\$38,639.57	0.70	\$27,047.70
							Entity Total:		\$26,619.99
							Adjustment:		\$0.00
							Total Amour	nt:	\$26,619.99
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$606.20	\$-606.20	0.70	\$-424.34
8/2018	10,619	25,953	208	36,780	\$45,975.00	\$955.43	\$45,019.57	0.70	\$31,513.70
							Entity Total:		\$31,089.36
							Adjustment:		\$0.00
							Total Amour	nt:	\$31,089.36
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$78.63	\$-78.63	0.70	\$-55.04
8/2018	2,403	3,606	6	6,015	\$7,518.75	\$152.60	\$7,366.15	0.70	\$5,156.31
							Entity Total:		\$5,101.27
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,101.27
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$4.85	\$-4.85	0.70	\$-3.40
8/2018	802	420	2	1,224	\$1,530.00	\$30.93	\$1,499.07	0.70	\$1,049.35
							Entity Total:		\$1,045.95

Butte

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$133.37	\$-133.37	0.70	\$-93.36
8/2018	2,959	6,194	9	9,162	\$11,452.50	\$243.34	\$11,209.16	0.70	\$7,846.41
							Entity Total:		\$7,753.05
							Adjustment:		\$0.00
							Total Amoun	ıt:	\$7,753.05
ampbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$22.23	\$-22.23	0.70	\$-15.56
8/2018	783	1,403	7	2,193	\$2,741.25	\$54.86	\$2,686.39	0.70	\$1,880.47
							Entity Total:		\$1,864.91
							Adjustment:		\$0.00
							Total Amoun	it:	\$1,864.91
harles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$71.31	\$-71.31	0.70	\$-49.92
8/2018	2,935	5,385	14	8,334	\$10,417.50	\$212.89	\$10,204.61	0.70	\$7,143.23
							Entity Total:		\$7,093.31
							Adjustment:		\$0.00
							Total Amoun	ıt:	\$7,093.31
ity of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$36.15	\$-36.15	0.70	\$-25.31
8/2018	36	2,204	0	2,240	\$2,800.00	\$58.90	\$2,741.10	0.70	\$1,918.77
							Entity Total:		\$1,893.46
							Adjustment:		\$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$76.88	\$-76.88	0.70	\$-53.82
8/2018	1,106	2,492	207	3,805	\$4,756.25	\$106.66	\$4,649.59	0.70	\$3,254.71
							Entity Total:		\$3,200.89
							Adjustment:		\$0.00
							Total Amoun	t:	\$3,200.89
City of Sioux Falls, I	Lincoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$545.32	\$-545.32	0.70	\$-381.72
8/2018	5,090	22,457	1,421	28,968	\$36,210.00	\$810.45	\$35,399.55	0.70	\$24,779.69
							Entity Total:		\$24,397.97
							Adjustment:		\$0.00
							Total Amoun	t:	\$24,397.97
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$56.70	\$-56.70	0.70	\$-39.69
8/2018	1,477	2,419	10	3,906	\$4,882.50	\$101.59	\$4,780.91	0.70	\$3,346.64
							Entity Total:		\$3,306.95
							Adjustment:		\$0.00
							Total Amoun	t:	\$3,306.95
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$172.41	\$-172.41	0.70	\$-120.69
8/2018	1,843	7,234	118	9,195	\$11,493.75	\$240.06	\$11,253.69	0.70	\$7,877.58
							Entity Total:		\$7,756.89
							Adjustment:		\$0.00
							Total Amoun	t:	\$7,756.89
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$309.06	\$-309.06	0.70	\$-216.34

8/2018	8,087	18,677	535	27,299	\$34,123.75	\$719.86	\$33,403.89	0.70	\$23,382.72
							Entity Total:		\$23,166.38
							Adjustment:		\$0.00
							Total Amoun	t:	\$23,166.38
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$20.18	\$-20.18	0.70	\$-14.13
8/2018	1,353	579	5	1,937	\$2,421.25	\$49.90	\$2,371.35	0.70	\$1,659.95
							Entity Total:		\$1,645.82
							Adjustment:		\$0.00
							Total Amoun	t:	\$1,645.82
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$172.03	\$-172.03	0.70	\$-120.42
8/2018	3,888	5,279	32	9,199	\$11,498.75	\$254.17	\$11,244.58	0.70	\$7,871.21
							Entity Total:		\$7,750.79
							Adjustment:		\$0.00
							Total Amoun	t:	\$7,750.79
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$355.76	\$-355.76	0.70	\$-249.03
8/2018	5,748	13,642	133	19,523	\$24,403.75	\$500.74	\$23,903.01	0.70	\$16,732.11
							Entity Total:		\$16,483.08
							Adjustment:		\$0.00
							Total Amoun	t:	\$16,483.08
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$112.97	\$-112.97	0.70	\$-79.08
8/2018	2,427	3,542	7	5,976	\$7,470.00	\$151.39	\$7,318.61	0.70	\$5,123.03
							Entity Total:		\$5,043.95

Adjustment: \$0.00

Total Amount: \$5,043.95

Total Amount:

\$6,694.97

Deue	
------	--

Deuei									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$93.89	\$-93.89	0.70	\$-65.72
8/2018	1,975	2,895	6	4,876	\$6,095.00	\$129.67	\$5,965.33	0.70	\$4,175.73
							Entity Total:		\$4,110.01
							Adjustment:		\$0.00
							Total Amoun	nt:	\$4,110.01
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$54.70	\$-54.70	0.70	\$-38.29
8/2018	1,382	2,112	5	3,499	\$4,373.75	\$89.20	\$4,284.55	0.70	\$2,999.19
							Entity Total:		\$2,960.90
							Adjustment:		\$0.00
							Total Amoun	nt:	\$2,960.90
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$59.13	\$-59.13	0.70	\$-41.39
8/2018	1,423	2,823	10	4,256	\$5,320.00	\$106.90	\$5,213.10	0.70	\$3,649.17
							Entity Total:		\$3,607.78
							Adjustment:		\$0.00
							Total Amoun	nt:	\$3,607.78
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$176.60	\$-176.60	0.70	\$-123.62
8/2018	3,639	4,297	19	7,955	\$9,943.75	\$202.91	\$9,740.84	0.70	\$6,818.59
							Entity Total:		\$6,694.97
							Adjustment:		\$0.00

Faulk

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$40.59	\$-40.59	0.70	\$-28.41
8/2018	932	1,441	13	2,386	\$2,982.50	\$61.36	\$2,921.14	0.70	\$2,044.80
							Entity Total:		\$2,016.39
							Adjustment:		\$0.00
							Total Amount	:	\$2,016.39
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$151.45	\$-151.45	0.70	\$-106.02
8/2018	2,421	5,150	14	7,585	\$9,481.25	\$190.63	\$9,290.62	0.70	\$6,503.43
							Entity Total:		\$6,397.41
							Adjustment:		\$0.00
							Total Amount	:	\$6,397.41
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$115.24	\$-115.24	0.70	\$-80.67
8/2018	1,980	3,428	14	5,422	\$6,777.50	\$146.33	\$6,631.17	0.70	\$4,641.82
							Entity Total:		\$4,561.15
							Adjustment:		\$0.00
							Total Amount	:	\$4,561.15
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$37.95	\$-37.95	0.70	\$-26.57
8/2018	1,088	1,383	5	2,476	\$3,095.00	\$61.96	\$3,033.04	0.70	\$2,123.13
							Entity Total:		\$2,096.56
							Adjustment:		\$0.00
							Total Amount	:	\$2,096.56
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

7/2018	0	0	0	0	\$0.00	\$76.77	\$-76.77	0.70	\$-53.74
8/2018	1,875	3,612	10	5,497	\$6,871.25	\$137.95	\$6,733.30	0.70	\$4,713.31
							Entity Total:		\$4,659.57
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,659.57
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$61.18	\$-61.18	0.70	\$-42.83
8/2018	1,235	2,706	13	3,954	\$4,942.50	\$101.30	\$4,841.20	0.70	\$3,388.84
							Entity Total:		\$3,346.01
							Adjustment:		\$0.00
							Total Amour	nt:	\$3,346.01
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$78.51	\$-78.51	0.70	\$-54.96
8/2018	1,032	2,946	18	3,996	\$4,995.00	\$102.69	\$4,892.31	0.70	\$3,424.62
							Entity Total:		\$3,369.66
							Adjustment:		\$0.00
							Total Amour	nt:	\$3,369.66
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$26.39	\$-26.39	0.70	\$-18.47
8/2018	737	867	1	1,605	\$2,006.25	\$50.17	\$1,956.08	0.70	\$1,369.26
							Entity Total:		\$1,350.79
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,350.79
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	1	0	1	\$1.25	\$240.06	\$-238.81	0.70	\$-167.17
8/2018	4,630	14,322	182	19,134	\$23,917.50	\$508.90	\$23,408.60	0.70	\$16,386.02

Entity Total:	\$16,218.85
Adjustment:	\$0.00

Total Amount: \$16,218.85

Entity Total:

Adjustment:

\$1,882.04

\$0.00

ut			

Hatomiison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$169.42	\$-169.42	0.70	\$-118.59
8/2018	3,322	5,037	46	8,405	\$10,506.25	\$235.56	\$10,270.69	0.70	\$7,189.48
							Entity Total:	:	\$7,070.89
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,070.89
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$39.88	\$-39.88	0.70	\$-27.92
8/2018	732	1,076	2	1,810	\$2,262.50	\$46.14	\$2,216.36	0.70	\$1,551.45
							Entity Total:	:	\$1,523.53
							Adjustment:	:	\$0.00
							Total Amou	nt:	\$1,523.53
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$27.48	\$-27.48	0.70	\$-19.24
8/2018	715	801	1	1,517	\$1,896.25	\$37.96	\$1,858.29	0.70	\$1,300.80
							Entity Total:	:	\$1,281.56
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,281.56
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$36.98	\$-36.98	0.70	\$-25.89
8/2018	981	1,245	0	2,226	\$2,782.50	\$56.88	\$2,725.62	0.70	\$1,907.93

Jones

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$24.41	\$-24.41	0.70	\$-17.09
8/2018	605	658	6	1,269	\$1,586.25	\$31.78	\$1,554.47	0.70	\$1,088.13
							Entity Total:		\$1,071.04
							Adjustment:		\$0.00
							Total Amour	it:	\$1,071.04
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$68.82	\$-68.82	0.70	\$-48.17
8/2018	1,415	3,958	47	5,420	\$6,775.00	\$139.23	\$6,635.77	0.70	\$4,645.04
							Entity Total:		\$4,596.87
							Adjustment:		\$0.00
							Total Amour	it:	\$4,596.87
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	2	0	2	\$2.50	\$225.92	\$-223.42	0.70	\$-156.39
8/2018	2,947	9,515	81	12,543	\$15,678.75	\$333.47	\$15,345.28	0.70	\$10,741.70
							Entity Total:		\$10,585.31
							Adjustment:		\$0.00
							Total Amour	ıt:	\$10,585.31
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$330.40	\$-330.40	0.70	\$-231.28
8/2018	8,365	16,381	135	24,881	\$31,101.25	\$647.27	\$30,453.98	0.70	\$21,317.79
							Entity Total:		\$21,086.51
							A aller a torra a contr		co.oo
							Adjustment:		\$0.00
							Total Amour		\$0.00 \$21,086.51

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	3	0	3	\$3.75	\$523.88	\$-520.13	0.70	\$-364.09
8/2018	4,423	22,178	1,419	28,020	\$35,025.00	\$770.39	\$34,254.61	0.70	\$23,978.23
							Entity Total:		\$23,614.14
							Adjustment:		\$0.00
							Total Amour	t:	\$23,614.14
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$64.22	\$-64.22	0.70	\$-44.95
8/2018	1,305	1,776	8	3,089	\$3,861.25	\$85.16	\$3,776.09	0.70	\$2,643.26
							Entity Total:		\$2,598.31
							Adjustment:		\$0.00
							Total Amour	t:	\$2,598.31
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$109.98	\$-109.98	0.70	\$-76.99
8/2018	1,989	2,759	8	4,756	\$5,945.00	\$120.10	\$5,824.90	0.70	\$4,077.43
							Entity Total:		\$4,000.44
							Adjustment:		\$0.00
							Total Amour	t:	\$4,000.44
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$140.20	\$-140.20	0.70	\$-98.14
8/2018	2,486	4,184	13	6,683	\$8,353.75	\$167.60	\$8,186.15	0.70	\$5,730.31
							Entity Total:		\$5,632.17
							Adjustment:		\$0.00
							Total Amour	t:	\$5,632.17
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$27.94	\$-27.94	0.70	\$-19.56

8/2018	1,089	1,556	1	2,646	\$3,307.50	\$65.31	\$3,242.19	0.70	\$2,269.53
							Entity Total:		\$2,249.97
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,249.97
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	1	0	1	\$1.25	\$355.79	\$-354.54	0.70	\$-248.18
8/2018	3,975	16,769	262	21,006	\$26,257.50	\$537.43	\$25,720.07	0.70	\$18,004.05
							Entity Total:		\$17,755.87
							Adjustment:		\$0.00
							Total Amoun	t:	\$17,755.87
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$24.43	\$-24.43	0.70	\$-17.10
8/2018	629	686	0	1,315	\$1,643.75	\$32.88	\$1,610.87	0.70	\$1,127.61
							Entity Total:		\$1,110.51
							Adjustment:		\$0.00
							Total Amoun	t:	\$1,110.51
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$50.81	\$-50.81	0.70	\$-35.57
8/2018	1,082	1,592	9	2,683	\$3,353.75	\$67.68	\$3,286.07	0.70	\$2,300.25
							Entity Total:		\$2,264.68
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,264.68
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	10	0	10	\$12.50	\$3,580.92	\$-3,568.42	0.70	\$-2,497.89
8/2018	47,311	144,400	1,935	193,646	\$242,057.50	\$5,112.79	\$236,944.71	0.70	\$165,861.30
							Entity Total:		\$163,363.41

Adjustment:	\$0.00
Total Amount:	\$163,363.41

Total Amount:

\$2,696.80

Мо	ody	
----	-----	--

Wioddy									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$132.06	\$-132.06	0.70	\$-92.44
8/2018	1,539	4,541	17	6,097	\$7,621.25	\$178.45	\$7,442.80	0.70	\$5,209.96
							Entity Total:		\$5,117.52
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,117.52
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	1	0	1	\$1.25	\$1,529.12	\$-1,527.87	0.70	\$-1,069.51
8/2018	27,646	75,370	1,455	104,471	\$130,588.75	\$2,797.94	\$127,790.81	0.70	\$89,453.57
							Entity Total:		\$88,384.06
							Adjustment:		\$0.00
							Total Amour	nt:	\$88,384.06
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$92.37	\$-92.37	0.70	\$-64.66
8/2018	1,865	2,312	6	4,183	\$5,228.75	\$114.66	\$5,114.09	0.70	\$3,579.86
							Entity Total:		\$3,515.20
							Adjustment:		\$0.00
							Total Amour	nt:	\$3,515.20
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$72.99	\$-72.99	0.70	\$-51.09
8/2018	1,404	1,797	4	3,205	\$4,006.25	\$80.70	\$3,925.55	0.70	\$2,747.89
							Entity Total:		\$2,696.80
							Adjustment:		\$0.00

Roberts

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$206.82	\$-206.82	0.70	\$-144.77
8/2018	3,957	4,767	10	8,734	\$10,917.50	\$242.12	\$10,675.38	0.70	\$7,472.77
							Entity Total:		\$7,328.00
							Adjustment:		\$0.00
							Total Amount	:	\$7,328.00
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$49.91	\$-49.91	0.70	\$-34.94
8/2018	966	1,785	32	2,783	\$3,478.75	\$69.76	\$3,408.99	0.70	\$2,386.29
							Entity Total:		\$2,351.35
							Adjustment:		\$0.00
							Total Amount	:	\$2,351.35
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$108.42	\$-108.42	0.70	\$-75.89
8/2018	2,120	4,515	10	6,645	\$8,306.25	\$166.87	\$8,139.38	0.70	\$5,697.57
							Entity Total:		\$5,621.68
							Adjustment:		\$0.00
							Total Amount	:	\$5,621.68
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$37.48	\$-37.48	0.70	\$-26.24
8/2018	748	2,187	10	2,945	\$3,681.25	\$75.48	\$3,605.77	0.70	\$2,524.04
							Entity Total:		\$2,497.80
							Adjustment:		\$0.00
							Total Amount	:	\$2,497.80
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

7/2018	0	0	0	0	\$0.00	\$35.20	\$-35.20	0.70	\$-24.64
8/2018	803	1,171	1	1,975	\$2,468.75	\$49.41	\$2,419.34	0.70	\$1,693.54
							Entity Total:		\$1,668.90
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,668.90
odd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$0.47	\$-0.47	0.70	\$-0.33
8/2018	0	30	1	31	\$38.75	\$6.01	\$32.74	0.70	\$22.92
							Entity Total:		\$22.59
							Adjustment:		\$0.00
							Total Amour	nt:	\$22.59
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$150.98	\$-150.98	0.70	\$-105.69
8/2018	2,768	3,857	5	6,630	\$8,287.50	\$168.61	\$8,118.89	0.70	\$5,683.22
							Entity Total:		\$5,577.53
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,577.53
urner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$137.66	\$-137.66	0.70	\$-96.36
8/2018	2,431	6,137	13	8,581	\$10,726.25	\$215.45	\$10,510.80	0.70	\$7,357.56
							Entity Total:		\$7,261.20
							Adjustment:		\$0.00
							Total Amour	nt:	\$7,261.20
Jnion									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
		0	0	0	\$0.00	\$312.81	\$-312.81	0.70	\$-218.97
7/2018	0	0	U	U	ψ0.00	ψ012.01	Ψ 012.01	0.70	Ψ = 10.01

Entity Total: \$12,197.43

Total Amount:

Adjustment: \$0.00

\$12,197.43

Walworth

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$84.83	\$-84.83	0.70	\$-59.38
8/2018	2,322	3,580	70	5,972	\$7,465.00	\$150.15	\$7,314.85	0.70	\$5,120.40
							Entity Total:		\$5,061.02
							Adjustment:		\$0.00
							Total Amoun	t:	\$5,061.02
Yankton									
Departing Device	Talasam Linas	Windood Lines	VOID	Total Lines	Curahanna	A dualin Faa	Not Comphana	F.,414.	Furtitur Amazount

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2018	0	0	0	0	\$0.00	\$337.65	\$-337.65	0.70	\$-236.36
8/2018	5,618	15,459	199	21,276	\$26,595.00	\$544.96	\$26,050.04	0.70	\$18,235.03
							Entity Total: Adjustment:		\$17,998.67 \$0.00
							Total Amou		\$17,998.67

Totals 236,812 579,688 9,680 826,180 \$1,032,725.00 \$ 35,929.92	\$ 996,795.08
--	---------------